FST 2-5 Notes

Topic: Exponential Models

GOAL

Construct mathematical models of situations that are exponential in nature.
Given two points of such a model, find an equation of the form y = ab”™ by
solving a system of two equations with two unknowns.

SPUR Objectives Vocabulary
F Find and interpret exponential

- exponential regression
regression and models. half-life
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2. The National Science Foundation (NSF) C d Federal obligations)
- ¥ Facal for research (NSF)
publishes InfoBriefs, a newsletter 0 Q. 5 (S millions)
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c. Calculate the residuals for 1998 and 2004.

find ordered pairs (predicted values) for model: 2nd TABLE

adjust table; 2nd TBLSET (TbleStart = )
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